
AP Statistics - Chapter 1B Extra Practice
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	1.
	For this density curve, which of the following is true? 

	A)
	It is symmetric          B) The total area under the curve is 1

	C)
	The median is 1        D) All of the above


	2.
	For this density curve, what percentage of the observations lies above 1.5? 

	A)
	25%        B) 50%          C) 75%             D) 80%


	3.
	For the density curve shown, what percentage of the observations lies between 0.5 and 1.2? 

	A)
	25%           B) 35%          C) 50%            D) 70%


	4.
	For the density curve displayed below, the mean is
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	A)
	0.25            B) 0.50            C) 0.71            D) 0.75


	5.
	A normal density curve has which of the following properties? 



	A)
	It is symmetric                                             

B) It has a peak centered above its mean

	C)
	The spread of the curve is proportional to the standard deviation           

D) all of the above


	6.
	Items produced by a manufacturing process are supposed to weigh 90 grams. The manufacturing process is such, however, that there is variability in the items produced and they do not all weigh exactly 90 grams. The distribution of weights can be approximated by a normal distribution with mean 90 grams and a standard deviation of 1 gram. Using the 68–95–99.7 rule, what percentage of the items will either weigh less than 87 grams or more than 93 grams? 



	A)
	6%             B) 94%              C) 99.7%             D) 0.3%


	9.
	Using the standard normal distribution tables, what is the area under the standard normal curve corresponding to Z < 1.1? 



	A)
	0.1357               B) 0.2704               C) 0.8413               D) 0.8643


	10.
	Using the standard normal distribution tables, what is the area under the standard normal curve corresponding to Z > –1.22? 



	A)
	0.1151             B) 0.1112              C) 0.8849                   D) 0.8888


	11.
	Using the standard normal distribution tables, what is the area under the standard normal curve corresponding to –0.5 < Z < 1.2? 



	A)
	0.3085             B) 0.8849                C) 0.5764              D) 0.2815


The temperature at any random location in a kiln used in the manufacture of bricks is normally distributed with a mean of 1000 and a standard deviation of 50° F. 

	12.
	If bricks are fired at a temperature above 1125°F, they will crack and must be discarded. If the bricks are placed randomly throughout the kiln, the proportion of bricks that crack during the firing process is closest to 



	A)
	49.38%              B) 2.28%              C) 47.72%                D) 0.62%


	13.
	When glazed bricks are put in the oven, if the temperature is below 900°F they will miscolor. If the bricks are placed randomly throughout the kiln, the proportion of glazed bricks that miscolor is closest to 



	A)
	49.38%               B) 2.28%               C) 47.72%                D) 0.62%


	14.
	Birthweights at a local hospital have a normal distribution with a mean of 110 ounces and a standard deviation of 15 ounces. The proportion of infants with birthweights under 95 ounces is 



	A)
	0.500               B) 0.159               C) 0.341                 D) 0.841


	19.
	Birthweights at a local hospital have a normal distribution with a mean of 110 ounces and a standard deviation of 15 ounces. The proportion of infants with birthweights between 125 ounces and 140 ounces is 

	A)
	0.819               B) 0.636               C) 0.477                 D) 0.136


	16.
	A market research company employs a large number of typists to enter data into a computer. The time taken for new typists to learn the computer system is known to have a normal distribution with a mean of 90 minutes and a standard deviation of 18 minutes. The proportion of new typists that take more than two hours to learn the computer system is 



	A)
	0.952               B) 0.548                C) 0.048                  D) 0.452


The distribution of actual weights of 8.0-ounce chocolate bars produced by a certain machine is normal with a mean of 8.1 ounces and a standard deviation of 0.1 ounces. 

	17.
	The proportion of chocolate bars weighing less than 8.0 ounces is 



	A)
	0.500               B) 0.159               C) 0.341                 D) 0.841


	18.
	The proportion of chocolate bars weighing between 8.2 and 8.3 ounces is 



	A)
	0.819               B) 0.636               C) 0.477                 D) 0.136


	20.
	The scores on a university examination are normally distributed with a mean of 62 and a standard deviation of 11. If the bottom 5% of students will fail the course, what is the lowest mark that a student can have and still be awarded a passing grade? 



	A)
	62                 B) 57               C) 44                    D) 40


	21.
	The time to complete a standardized exam is approximately normal with a mean of 70 minutes and a standard deviation of 10 minutes. How much time should be given to complete the exam so that 80% of the students will complete the exam in the time given? 



	A)
	84 minutes             B) 78.4 minutes           C) 92.8 minutes                D) 79.8 minutes


	22.
	The time taken to prepare the envelopes to mail a weekly report to all executives in a company has a normal distribution with a mean of 35 minutes and a standard deviation of 2 minutes. On 95% of occasions the mailing preparation takes less than 

	
	

	A)
	38.29 minutes             B) 31.71 minutes               C) 35.25 minutes                 D) 34.75 minutes


	24.
	The weights of packets of cookies produced by a certain manufacturer have a normal distribution with a mean of 202 grams and a standard deviation of 3 grams. The weight that should be stamped on the packet so that only 1% of packets are underweight is 



	A)
	209 grams              B) 195 grams                 C) 202 grams                  D) there is not enough information to tell


	26.
	A company produces packets of soap powder labeled “Giant Size 32 Ounces.” The actual weight of soap powder in a box has a normal distribution with a mean of 33 ounces and a standard deviation of 0.7 ounces. Ninety-five percent of packets actually contain more than x ounces of soap powder. What is x? 



	A)
	34.40                B) 34.15                C) 31.85                 D) 31.60


	27.
	The distribution of actual weights of 8-ounce chocolate bars produced by a certain machine is normal with a mean of 8.1 ounces and a standard deviation of 0.1 ounces. What weight should be put on the chocolate bar wrappers so that only 1% of bars are underweight? 



	A)
	7.77 ounces               B) 8.33 ounces               C) 7.87 ounces                   D) 8.23 ounces


Answer Key
1. D

6. D

13. B

19. D

26. C

2. A

9. D

14. B

20. C

27. C

3. B

10. D

16. C

21. B

4. B

11. C

17. B

22. A

5. D

12. D

18. D

24. B
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